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QID : 1 - In the following question, select the related word pair from the given alternatives.
Red: Colour::?:?

TrAfaRe weat & U 1w fshedt & & Heiftid 2ree; 97 1 giAv)

Options:

1) Sun : Heat

2 et

2) Earth : Planet

g2t : TE

3) Land : Solid

qff o

4) Water : Drink

ECERG

Correct Answer: Earth : Planet
gl : 7%

Candidate Answer: Land : Solid

qfF o

QID : 2 - In the following question, select the related word pair from the given alternatives.
Square:Four::?:?

TrAfaRad woat # fou a1v fashet # & Heiftrd eree; 9 1 AT

A :AR::?2:?

Options:

1) Rectangle : Five

T ;O

2) Hexagon : Seven

eI : AT

3) Rhombus : Six

4) Triangle : Three

Correct Answer: Triangle : Three
Candidate Answer: Triangle : Three

QID : 3 - In the following question, select the related word from the given alternatives.

Forest : Trees : : Book : ?

TR geat # U a1v faehedt # & Haiftrd 2ree; 1 gl

T i GaT i EAF 1 2
Options:

1) Pages

T

2) Bind

Sreg

3) Writer

Ereea

4) Pen

FeTH

www.allexamdost.com



Correct Answer: Pages
g5

[3

Candidate Answer: Pages
IS5
QID : 4 - In the following question, select the related letters from the given alternatives.

TRAP: YWFU:: FROG:?
TrAfaRd weat # U a1v fshedt & & Haiftrd 31eRT 1 giav)

TRAP: YWFU:: FROG:?

Options:
1) KHLG

2) KWTL

3) WKLH

4) FGHL

Correct Answer: KWTL

Candidate Answer: [ NOT ANSWERED ]

QID : 5 - In the following question, select the related letters from the given alternatives.
FAN:MZU::LIP:?

Tt et o fow 1w et 7 & wafta et 71 gfaw)

FAN:MZU::LIP:?

Options:

1) FGA

2) KRO

3) ANP

4) TSQ

Correct Answer: KRO

Candidate Answer: KRO

QID : 6 - In the following question, select the related letters from the given alternatives.
AM:FR::LQ:?

Tt et 3 foT 1w et 3 & waftra et 71 gfaw)
AM:FR::LQ:?

Options:
1) HQ

2) NP
3)Qv

4) LS
Correct Answer: QV
Candidate Answer: QV

QID : 7 - In the following question, select the related number from the given alternatives.
46:24::54:?

TrAfaRad weat # feu a1v fashet # & Weiftrd weam &1 v

46:24::54:?

Options:

1) 30

2) 24

3)20

4) 36
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]



QID : 8 - In the following question, select the related number from the given alternatives.
11:24::23:?
TrAfaf@d weat # U a1v faeheut # & Haiftra Feam &1 giav)

11:24::23:7?

Options:
1) 42

2) 36
3)54

4) 58
Correct Answer: 36
Candidate Answer: 36

QID : 9 - In the following question, select the related number from the given alternatives.
5:15::7:?
TrAfaRad weat # feu a1v fashet # & Weiftrd w&ar &1 v

5:15::7:?
Options:
1) 28

2)21
3)37

4) 25
Correct Answer: 21
Candidate Answer: 21

QID : 10 - In the following question, select the odd word pair from the given alternatives.

rAfaRad woat # fov 1w fasheut & favws usg goar &1 giav|
Options:

1) Pen — Write

et — forg=Tr

2) Ball - Play

g — et

3) Food - Eat

Histel — QreT

4) Pencil - Stationery

Yfrer — oraeT el

Correct Answer: Pencil - Stationery
Y — oraeT Ty

Candidate Answer: Pencil - Stationery

Ao — o= aEEy

QID : 11 - In the following question, select the odd word from the given alternatives.

TR geat # U a1v fasheut # & fave weg &1 gi=w)
Options:

1) Road

R:ECD

2) Truck

<

3) Car

R

4) Scooter

FhT

Correct Answer: Road
Hsh

Candidate Answer: Road
RIEED

QID : 12 - In the following question, select the odd word from the given alternatives.

TrAfaRad geat # feu a1v fashedt 7 @ fava usg &1 giaw)



Options:
1) Rice
Eice)

2) Wheat
'fﬁ'g"“\

3) Maize
HeFhT

4) Crop
T
Correct Answer: Crop
hHT

Candidate Answer: Crop
et

QID : 13 - In the following question, select the odd letters from the given alternatives.

TF=Te e weat # U 1w fashoul & & fawer 37eRT 1 giav|
Options:

1) GIM

2) HKN

3) MPS

4) NQU
Correct Answer: NQU
Candidate Answer: NQU

QID : 14 - In the following question, select the odd letters from the given alternatives.

Tt weat # fow a0 Rwedt # & fww 3w #t giw)
Options:

1) LQVA

2) AFKQ

3) CHMR

4) MRWB
Correct Answer: AFKQ
Candidate Answer: LQVA

QID : 15 - In the following question, select the odd letters from the given alternatives.

Tt weat # fow a0 Rwedt # & v 3w #t g

Options:
1) VRNJ

2) CYUQ
3) KGCX

4) SOKG
Correct Answer: KGCX
Candidate Answer: KGCX

QID : 16 - In the following question, select the odd number from the given alternatives.

Tt et # fow a1v Rwedt # & fawe @ &1 giaw)
Options:

1)2-12

2)5-28

3)4-24

4)3-18

Correct Answer: 5 - 28

Candidate Answer: 5 - 28

QID : 17 - In the following question, select the odd number from the given alternatives.

AR weat # U a1v fashet & & fawar deam &1 gfw|
Options:

1) 11-13

2)13-17

3)17-19

4)11-15

Correct Answer: 11 - 15

Candidate Answer: 13 - 17



QID : 18 - In the following question, select the odd number pair from the given alternatives.

TrAfaRad et # feu a1v fashedt 7 & fawer dean 3o 1 giav|
Options:
1)4-12

2)5-15
3)6-18

4)9-29
Correct Answer: 9 — 29
Candidate Answer: 9 — 29

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured

TR ereal 1 eTeeehter & 3= aTel S & 37TAR fordd|

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured
Options:
1) 35142
2) 53142
3) 35124
4) 53124

Correct Answer: 35142
Candidate Answer: 35142

QID : 20 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama

TFARe ereal 1 QTecehrer H 3= aTel A & 37TAR fordd|

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama
Options:
1) 35421
2) 35412
3) 35214
4) 35241

Correct Answer: 35412
Candidate Answer: 35241

QID : 21 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Price
2. Prize
3. Police
4. Paint
5. Prawn

TR Qreel 1 QTeeehrer # 3MT=Y aTel T o TTAR ford|

1. Price
2, Prize
3. Police
4. Paint
5. Prawn



Options:
1) 45123

2) 45213
3) 43521

4) 43512

Correct Answer: 43512

Candidate Answer: 45213

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AG, FM, KS, PY, ?

Teh 3TeTehA T 91 €, Torae & weh ug oo 81 U 91U faeheul A & 98 WEl fahed AT, S AeToha T 1 |

AG, FM, KS, PY, ?
Options:
1) RM

2) UE

3)1Q

4) YA

Correct Answer: UE

Candidate Answer: UE

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ALK, VGF, QBA, ?, GRQ

Tk 3TeTehA T 9 B, Torae & weh ug oo B U 91U faeheul A & a8 HEl fashed YT, S Aefoha T 0 H |

ALK, VGF, QBA, 2, GRQ

Options:
1) KST

2) ARP
3) CXD

4) LWV
Correct Answer: LWV
Candidate Answer: LWV

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KPD, QVJ, WBP, CHV, ?
Tk 3TeTehA T a1 B, Torae & weh ug oo 81 U ITv faehoul A & a8 WEl fahed AT, S Jefoha T 0 H |

KPD, QV], WBP, CHV, ?
Options:

1) INB

2) GXF

3) ICM

4) 7DQ
Correct Answer: INB
Candidate Answer: INB

QID : 25 - In the following question, select the missing number from the given alternatives.
3,7,11, 63, 27, 215, ?,?
et geat # feu a1v fashedl 7 § oo 37 AT v |

3,7,11, 63, 27, 215, ?,?

Options:

1) 47, 513

2) 51, 511

3) 51, 513

4) 47, 511

Correct Answer: 51, 511

Candidate Answer: [ NOT ANSWERED ]



QID : 26 - In the following question, select the missing number from the given alternatives.

18, 45, 112.5, ?, 703.125
TR geat # U a1v fehedl & & ot 37%h AT Hifaiv|

18, 45, 112.5, ?, 703.125
Options:

1) 217.5

2) 262.25

3) 281.25

4) 273.75

Correct Answer: 281.25
Candidate Answer: 217.5

QID : 27 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, ?
Tt weat # fow a0 Rwedt # & qea 3% A1d Hifaw

30, 68, 130, 222, 350, ?
Options:

1) 504

2) 520

3) 476

4) 448

Correct Answer: 520
Candidate Answer: 520

QID : 28 - Seg CD is shorter than Seg MN, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the
shortest?

@3 CD Ws MN ¥ BYeT &, WS MN @3 TR & BleT ¢, WS AB WS CD ¥ BieT & 31X @s MN s PQ & BIeT &1 T BIeT TS i AT §?
Options:

1) CD

2) MN

3)PQ

4) AB
Correct Answer: AB
Candidate Answer: AB

QID : 29 - A is B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

A, B 3 TrcT & e &1 aig 1 T &1 39K B o et &7 b1 #7178 &, 1 A, B A fohdt oiie weifere 87
Options:

1) grand-daughter

LIy

2) daughter

aer

3) mother

AT

4) sister

Erl

Correct Answer: sister
ErGl

Candidate Answer: sister
Ergl

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.

RECUPERATE

TrAfaRad fashedt 7 & @ Usg YIAT S 14T 1T 2ree; & 3TaRT T T Sk +FET ST ST Hehell:
RECUPERATE

Options:

1) acute

2) trace

3) price

4) erupt
Correct Answer: price



Candidate Answer: price

QID : 31 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

I TUESDAY &1 18 & VWGUFCA ToraT ST & @Y COW & 18 # ram fargare?
Options:

1) EQY

2) XLD

3) BNV

4) DPX
Correct Answer: EQY
Candidate Answer: EQY

QID : 32 - In a certain code language, 2369 means 'master class is fun', 9527 means 'act is class apart' and 1349 means 'we have fun class'. Find the code for 'fun'.

TRy TATRad g $ITT 3 2369 1 312 & 'master class is fun', 9527 T 372 & 'act is class apart' 31T 1349 T 3727 & 'we have fun class'| 'fun' & faIT @i ATT HI

Options:
1)2

2)6
3)3

4)9
Correct Answer: 3
Candidate Answer: 9

[N

QID : 33 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

16 - 25x40 + 60 + 15 = ?
e ARTT R AT F '+, - F weRId Har g, -, X' B ISRIT BT 8, X, '+ B JERIT T § 3T '+, '+ & G Far &1 Aeafai@d 99T 7 Scak AT H?

16-25x40+60+15="7?
Options:

1) 14

2)72

3)55

4) 63

Correct Answer: 55
Candidate Answer: 55

QID:34-1f72$20 =46 and 1 $ 27 = 14 then find the value of 10 $ 44 = ?

TG 72$20 =463 1$27 =14a7 10 $ 44 = ? & AT AT PL?
Options:

1) 34

2) 54

3)27

4) 17

Correct Answer: 27

Candidate Answer: [ NOT ANSWERED ]

QID: 35-1If A$ Bmeans Ais son of B, A # B means A is brother of B and If A * B means A is father of B, then what does P # Q $ R * S mean?

AGASBIITERFA BHIIE, A#BFITEHA BHA AL AR AR A*BHF IR HA BH VA E AP # Q$ R * SH a3 2
Options:

1) P is father of S

P, ST Rarg

2) P is father's father of S

P, S & far &1 T §

3) P is brother of S

P,SHTHAESE

4)Pissonof S

P, SHTYTE

Correct Answer: P is brother of S

P, SHI S ¥

Candidate Answer: P is brother of S

P,SHTHESE



QID: 36 -

Select the missing number from the given responses

o o fareedt 3 @ o W g

7

B

-J

Options:
1)2

2) 11
3)1

4) 10
Correct Answer: 10
Candidate Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
frafafla # & i & e &r a1t Il & FH & AR §?

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA
Candidate Answer: AAABAAAA

QID : 38 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns
South and walks another 15 m, then he turns East and walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

QITTRAeT FieT 3F &7 Tt ATe Uah ATl 7T ZTl &1 ST 50 FIET Seak T 3R o ST &1 T 718 18 3% 75 15 FIeT TofaT §| 36% aTe g faoT i 3R 75 15
Hrex o 8, T a7 25 #fiex 78 &1 3N Terar § 3T R afdror i 3% 75 35 Hiex a% Tordr §1 319 98 e TR fufa @ e Rafa o e
Options:

1) 10 m West

10 #rex wfRes

2) 10 m East

10 Arex g

3) 40 m East

40 Hrex g

4) 40 m West

40 #rex aiRTH

Correct Answer: 10 m East

10 Hex @

Candidate Answer: 40 m East

40 #rex q&

QID : 39 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns
West and travels 9 km, then turns to its left and travels 5 km. Where is tank A with respect to tank B?

a1 & dia U &1 g & Tofel TReT Al §1 & A, 12 fraiieex afaror & 3R Terar § 3R O a1$ 3R A 7 Rraieiex Trerar §1 & B, 7 Rt gfaror #ir 3t werar
2 31 A afRaer &1 3R Fga 9 ralieliex =rera 8, R 3roelt a1 3R 5o 5 Rrehieliex e 81 & B & dast # 3 A wgi 82



Options:

1) 16 km West

16 fereex aftas

2) 2 km East

2 fralreiex g

3) 2 km West

2 feieiey afRas

4) 16 km East

16 fpeefey 98

Correct Answer: 16 km East

16 fereliefie q&

Candidate Answer: 16 km East

16 ferelieieT q&

QID : 40 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cats are dogs
Statement II: Some cats are carnivores
Conclusion I: All dogs are carnivores
Conclusion II: All carnivores are dogs

uel #H f FU ¥ 4 § foraeh 31T &Y sy 1 311X 11 fehrer 33 & 31Teh! AT & T St el T § 918 98 AaT=ad: A1 a2t & et gdia gid gf| 3muesr Aot
FAT & T BT 37w st F & wla-ayFa-g FaT 9 & FUT earT G e S Tehdr g/awd € IR FS 2

FUA I: F1S el Fear 6T §
Fa I1: o Rfeeral Aramer §

forsare I: weft et AR E
forssd 11: @l Amerdy et €
Options:

1) Only conclusion I follows

Fae AT [T &

2) Only conclusion II follows

Fad fswy 11 J8r §

3) Both conclusions I and II follow
gt forsey I 31X 11 &Y &

4) Neither conclusion I nor conclusion II follows
T &Y sy I @gr § = & fose 11

Correct Answer: Neither conclusion I nor conclusion II follows

o1 A ey I | € 7 & SRy 11

Candidate Answer: Neither conclusion I nor conclusion II follows

AT A TSRy I TET & AT 8 fovsepy 11

QID : 41 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement II: Some alloy is bronze
Statement III: Some zinc is alloy

Conclusion I: Some zinc is bronze
Conclusion II: Some copper is zinc
Conclusion III: some alloy is copper

92T & et e & a1 € ok 3mer it sy I, 11 31 I fXesrer 313 €1 319eh! ATt & 6 el el §edr € IR 98 ArAgd: A1 a2t ¥ fest goid gl el
3Rt fAUTT e § 1 T aTe fssnt & & sie-an/Hia-a RAfvad &7 F FU carT & e S awhdr §/awd €, I F13 8

FYA 1: FI$ fefer Frar 781 &
FYA I S 4T Telel &
FUT 111 T T U1 &

sy I FS ST Neael 3

o 11: To dier e &

farsd IIL: o 1 dien §
Options:

1) Only conclusions I and II follow
Fael fsmy [ 3R I Tdr g

2) Only conclusions II and III follow
haer fsed 11 3R 111 @Y &

3) All conclusions I, II and III follow
et forsend 1, 11 3R 111 wér &

4) None of the conclusions follow

At forseRs 1, 1T 3 111 6y 77T &



Correct Answer: None of the conclusions follow

et rees I, 11 33 I ey a1t &

Candidate Answer: Only conclusions I and II follow

o ey [ R I &8 &
QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frforRas ST STafr 3 & i &1 o T 7Y o3
3TTEPIT # Gl T 3 1T 8 oIl Their?

Options:
1)

e
Bl
2)

S
0
3)
<3< >
B
)
<>
B

4

Correct Answer:



Candidate Answer:

e

QID : 43 -
Which of the following answer figure patterns
can be combined to make the question figure?
fer=rfirfe wee snpfer & & @it & mftvea) ot
WS Y Y Wy Sl H1 AT A HEwe §2

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID: 44 -
In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either
astronauts or swimmers?

Frferfan femr &, eegiFies @t mafifa T &,
foregor dwret 7 mafdfa @var 8, g, afarsl & silk
ST MR @Y vefife e 21ameRt @ B W wE

Higerall @ vefie e & & ar & sy
& 1 v 47
D
H
c [EfF
\G A




Options:
1) FHGI

2) DEIA
3) IBFG

4) FHI
Correct Answer: FHI
Candidate Answer: FHGI

QID: 45 -

Which of the following Venn diagrams represents the
relationship between Pencils, Pens and Writing
instruments ?

fr=forRee 5 & @i A1 a9 fe ufraed, U7 3iR fora= $r
TR & SR e g &7

Options:
1)

;

®

w
-

Y
—

©

Correct Answer:

Candidate Answer:



QID: 46 -

Which answer figure will complete the pattern in the
question figure?

frrforRad & & BI- IO SMPfRT U4 TSR & Uiy
I Q=T HY(T?

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]



QID : 47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1t SR STl ¥ § 9 Sy @t gy foRm
arefer e 21

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID: 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T SHRIT 7 fERETY SR B Bl TS ST
BT P TAT WeH & 1S I8 5 IR AHHT it
feaTg <m?

Options:
1)

Candidate Answer: [ NOT ANSWERED ]



QID:49-

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

afey Tes HoT Y MIN RaT 9R X7aT oY ot & Rl SR
ST H I I-HT SATHIT T4 AT T HEN
ufcrfers grf?

)

Options:
1)

2)

3)

4)

& & K K

Correct Answer:

Candidate Answer:




QID: 50 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-I| are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example *C’ can
be represented by 31, 42 etc and "W can be represented by 76, 89 etc.
Similarly, you have to identify the set for the word 'SODA’

% 9155 EeIaT ep SeET-GE SN ST T 8, SR R feremedt & 2 fodt v A
T e 21 Tyt = T 0 TREEE AR & T @ g g e &, S fi
T 7 2t SIrEIET H 81 ATRIE-| & T 371R UiR 4T Wm0 4 o 3megE-1l B
5993 g7 el & v HeR oY veer guh) it i A ¥ vy e g
9T T H 8 SEEROT R T ‘G BT 31, 43 31T FRY T ST Hael & oy
W' T 78, 89 A(E ST ifar T e 21 9 oNE W ARy e ¥ 2T g
‘SODA’ 10 g e g &)

Matrix| FTAIE Matrin || STl

0 1 2 3 4 5 s | 7 8 g
0 ] G ] A H 5 5 R X
1 B A ] B L 5 5 o] [ u i
2 B D A F L 7 T w | w 5 T
3 L C G B B 8 a R T w
4 B [ B C B 9 a | T 5 X

Options:

1) 65,85,21,40
2) 78,87,12,03
3) 55,67,12,33

4) 98,69,22,14
Correct Answer: 78,87,12,03
Candidate Answer: [ NOT ANSWERED ]

QID : 51 - By what name is the BRICS bank presently known?

foore o T aaAT & R A1 & ST ST &7
Options:

1) BRICS Development Bank

foaa faerg I

2) Afro-Asia Development Bank
TRI-URIT Sgerade d&

3) New Development Bank

I 3TAIHC d6

4) No option is correct.

18 fashod e a8 &,

Correct Answer: New Development Bank
g 3TIHT dh

Candidate Answer: [ NOT ANSWERED ]

QID : 52 - What does parallel economy mean?

FATATR IrTTGEAT T FAT AT &2
Options:

1) Black Money

eIl et

2) Parallel Business

HATACR IR

3) Illegal Economy

33 egaTar

4) No option is correct.

F1$ famed e w1eT 8.

Correct Answer: Black Money
TolT et

Candidate Answer: Parallel Business
FAIAR SITAR

QID : 53 - Who implements monetary policy in India?

R # Ao wAfer et ey eelr &2



Options:

1) NITI Aayog

Afer 3maver

2) RBI

AR Rerd §

3) Ministry of Finance
e FeT

4) Parliament

par:ry

Correct Answer: RBI

AR Rerd d
Candidate Answer: [ NOT ANSWERED ]

QID : 54 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC &S &1 Uah 2T 81 ARDC T 9T &Y 1T 82

Options:

1) Agricultural Research and Development Corporation

Y Jregeene iR fashme oy

2) Agriculture and River Development Cooperation

FY 3R 7T sy weimar

3) Agricultural Reform and Development Cooperation

FY GUR 3R s T

4) Agricultural Refinance and Development Corporation

FY qafdca sk R T

Correct Answer: Agricultural Refinance and Development Corporation
FiY gafdea 3tk e e

Candidate Answer: Agricultural Research and Development Corporation

Y e 3R e foare

QID : 55 - Which of the following is a part of machinery that settles industrial disputes?

TAfa@d & @ i a1 A= &7 v Rwar § S e faamat @ mderT e §?
Options:

1) Labour Court

T HIE

2) Industrial Tribunal

et feegerer

3) Work Committee

w1 afAfe

4) All options are correct.

Tt fosheT T §.

Correct Answer: All options are correct.
| fosheT T §.

Candidate Answer: Industrial Tribunal

e fesgaer

QID : 56 - In which year Nagaland was created as separate state?

e 16T ATl ST 37197 T & ®Y H ST 34T AT?

Options:
1) 1961

2) 1962
3) 1963

4) 1964
Correct Answer: 1963
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Which one of the following is responsible for the preparation and presentation of Union Budget?

AR & & et LT Tl T AR 3R Fegf & fow foeAer 82
Options:

1) Department of Economic Affairs

e Are & fqsmr

2) Department of Revenue

TrorEg fasmT

3) Department of Expenditure

I3 TeTeT

4) No option is correct.

FS Fhed T AL 8.

www.allexamdost.com



Correct Answer: Department of Economic Affairs
3T At & fqamr
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Who presided over the inaugural meeting of the Constituent Assembly of India?

IR T TTTETT THT T Ugall Soeh I HETeTar fohget T o
Options:

1) Dr Rajendra Prasad

EIRUC ARy

2) Dr Sachchidanand Sinha

37 gfcagreg fAwer

3) B R Ambedkar

&7 3R 35T

4) Sardar Patel

HEGR qeoT

Correct Answer: Dr Sachchidanand Sinha
3t afeageie feer

Candidate Answer: B R Ambedkar

&7 3T 39z

QID : 59 - Which of the following was not adopted from the Maurya Dynasty in the emblem of Government of India?

HRT THR & i & Aefai@d & & i AGT g2 & 9727 g1 a/2m 217
Options:

1) Satyameva Jayate

HcIAT ST

2) Bull

g

3) Horse

BGIE

4) Four Lions

IR W

Correct Answer: Satyameva Jayate
HcIAT ST

Candidate Answer: Satyameva Jayate

TR ST

QID : 60 - The first session of Constituent Assembly of India was held in which of the following cities?

mﬁmﬂmmwmﬁmﬁ@aﬁﬁm:mﬁgww
Options:

1) Bombay

g%

2) Madras

HAH

3) Culcutta

helehedl

4) Delhi

et

Correct Answer: Delhi

Crc)

Candidate Answer: Bombay

dag

QID : 61 - Which of the following is the best example of Vijaynagar Art?

frafafd & & HiT 7 ISR Fell T T IS 36107 &7
Options:

1) Ajanta

3HSidr

2) Hampi

Feasiy

3) Puri

AU

4) Sanchi

|

Correct Answer: Hampi

godT
Candidate Answer: [ NOT ANSWERED ]



QID : 62 - Taxila was capital of which among the 16 Mahajanpadas?

16 FETSI=TIGr 3 § fordeT IaTemsir qarfRrer o
Options:

1) Kosala

AN

2) Kuru

kS

3) Vajji

afesr

4) Gandhara

MU

Correct Answer: Gandhara
MU

Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Who was founder of Mughal Empire in India?

R H FITT AIHTST T TEATIH Hief AT?
Options:

1) Babur

1Y

2) Humayun

3) Akbar

3hsX

4) Jahangir

£

Correct Answer: Babur

EicTs

Candidate Answer: Humayun

QID : 64 - Where did Vasco da Gama arrive in India in 1498?

arEent T3 ITAT 1498 & IR & gl 3T U1?
Options:

1) Madras

Hard

2) Calcutta

Felehcdl

3) Calicut

FIelhe

4) Bombay

ser$

Correct Answer: Calicut

FTeiThe

Candidate Answer: Madras
HoH

QID : 65 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

ARIIZTH T W & AR, F=iaiad & @ fond fafeer i dfa fear arar ar?
Options:

1) Mysore

R

2) Hampi

=y

3) Kannur

Fl

4) Malabar

ATATER

Correct Answer: Malabar
EIGICIES

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - By what name is the Ganga known in Bangladesh?

SITATERT # T4 T AT FAT §7?



Options:
1) Padma
L

2) Ganga
Eici

3) Damodar
grHIEY

4) Meghna
HEAT
Correct Answer: Padma
=T

Candidate Answer: Damodar

gAY

QID : 67 - Which of the following are not kharif crops?

S8 W ieT AT TUH FHA 76T &7
Options:

1) Maize and Rice

AFHI AR FIaT

2) Arhar and Soyabean

3ET 3R e

3) Wheat and Barley

ag s st

4) Ragi and Groundnut

T 3R FaTOReT

Correct Answer: Wheat and Barley
arg 3tk it

Candidate Answer: Ragi and Groundnut

T 3R FaTRelr

QID : 68 - How many seismic stations are required to locate the epicentre of an earthquake?

87T & g T T ofaTlel & foIT forctey s{ehY TeriT & 3TareTencT grelt &2

Options:

1)3

2)4

3)5

4)6

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 69 - Madhya Pradesh shares its border with how many States?

FET YS2T fohcdey I=T S AT 39T HIAT FTST AT &7
Options:

1)5

2)4

3)6

4)3
Correct Answer: 5
Candidate Answer: 5

QID : 70 - Palghat joins which of the following states?

qrereTe Fafailad # & forer U=t 1 ffemar 82
Options:

1) Goa and Maharashtra

Mt 31% FERTSE

2) Kerala and Karnataka

e 3R FeAlen

3) Tamil Nadu and Kerala

ATHIATg 3R e

4) Mizoram and Manipur
[GEEGEREIR/E

Correct Answer: Tamil Nadu and Kerala
ATHAATg 3R et

Candidate Answer: [ NOT ANSWERED ]



QID : 71 - Which of the following authorities regulates NPS?

e & O TN 1 AATHT i e &7
Options:

1) IRDA

ITEHRET

2) PFRDA

HTEARST

3) CAG

oS

4) SEBI

[T

Correct Answer: PFRDA
URIRET

Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

Rl eTsfanal st wererd e & AT 3ot & et df Fog TSI Arsfer 82

Options:

1) SAKSHAM
HaTH

2) ABLA
Ecel

3) SABLA
Heell

4) BBBPS
EICIEI LS

Correct Answer: SABLA
el

Candidate Answer: [ NOT ANSWERED ]

www.allexamdost.com

QID : 73 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

feafafla # & frae Areear 1 s aies o e S afafafer ge & o o a1 anffe fmar 82

Options:

1) WHO
SecgUasi

2) UNCTAD
FuaAHETSy

3) ADB

RIS e %
4) UNESCO
FAERT

Correct Answer: UNESCO
Poreny

Candidate Answer: UNCTAD
JuaAdETEY

kN

QID : 74 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

R # fordhe A1S 31T dhigier a8 & AevawS & &9 7 ford e R o 82

Options:

1) MV Sridhar

THAT AR

2) Saba Karim

& HAA

3) Rahul Johri

W el

4) Anurag Thakur

T ST

Correct Answer: Saba Karim

TET HAH
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - FIFA World Cup 2022 will be held in which country?

et faeg &9 2022 fFe g1 & 3mfSa R Swem?



Options:
1) Russia
&

2) Spain

paer

3) Ukrain
T

4) Qatar
¥

Correct Answer: Qatar
¥

Candidate Answer: Russia
*H

QID : 76 - "The Idea of Justice" is written by

"% 3SR it " can fordt a1$ &1
Options:

1) Ravindra Singh

oz g

2) Mamta Banerjee

HAT FoTait

3) Amartya Sen

HAT BT

4) Abhinav Bindra

3faq faegr

Correct Answer: Amartya Sen

AT BT
Candidate Answer: [ NOT ANSWERED ]

QID : 77 - Which author has been made Companion of Honour on December 12, 2017?

REFT 12, 2017 Y ThH oG/ AT T FFATATT 3T T TTAT AT &7
Options:

1) J. K. Rowling

. &, AT

2) Roald Dahl

J3TTes 3Tel

3) Charlotte Bronte

relfe siee

4) Jane Austen

ST 3T

Correct Answer: J. K. Rowling

. . Afarer
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - 315 Surajkund International Crafts Mela has begun at which of the following city?

31-ﬁwmﬁwﬁwﬁmﬁﬁaﬁ#ﬁm%mﬁmagmw
Options:

1) Faridabad

RRICIEICY

2) Jaipur

AR

3) New Delhi

& Rl

4) Jaisalmer

SR

Correct Answer: Faridabad
TRIGETG
Candidate Answer: [ NOT ANSWERED ]

QID : 79 - ONGC Videsh has got a two year extension to explore which country's Oil block-128 in the south China sea?

3NTTSET fager @ EfEor e R & g 237 & Jd solih-128 & FHAAY & v Y a¥ &1 faear e &2



Options:

1) Cambodia

FHEatsaT

2) Vietnam

Rraaea

3) Taiwan

BIECIGE

4) Philippines

Rreldiea

Correct Answer: Vietnam

rade
Candidate Answer: [ NOT ANSWERED ]

QID: 80 - The 5t India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

5 &t sTRc-Alreieht g J= 3rearq A= Ifere 2017”7 TR & fova o & i R arar ar?
Options:

1) New Delhi

% e

2) Tamil Nadu

RIGCGIC

3) Maharashtra

HERTSE

4) West Bengal

qf¥ge §amer

Correct Answer: Maharashtra
HERTSE

Candidate Answer: Tamil Nadu

BIGECIE

S

QID:81-BIOSisa .

I. non-volatile firmware
I1. Volatile firmware
III. Software stored on a small memory chip on motherboard

BIOS T&h gl

1. 3R-aRad= T HHaR

IL 9RETIT hHRR

II1. ACISIS TR U BIET W AANT R W AIreaaR T FIE0T
Options:

1)Only I

Shad 1

2) Only II

Shae 11

3) Only I and III

haol I 2T 111

4) Only II and III

ol IT T 11T

Correct Answer: Only I and III
haer I 2 111

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - Which of the following is TRUE?

afaf@d # & i9 91 a7 &7

Options:

1) Primary memory is non-volatile.

grrfAs AARY R-aRad= g &1

2) Secondary memory is volatile.

gfarerr AAN aftade g &

3) ROM is non-volatile memory.

A R-IRGIHT gl &1

4) RAM is non-volatile memory.

3 IR-aRad= gl &1

Correct Answer: ROM is non-volatile memory.
A R-aRad=i gl &1

Candidate Answer: ROM is non-volatile memory.

T A-afacieiT gieh 81



QID : 83 - Which of the following metal remains in liquid form at room temperature?

TR & & e T T 87 AT W g w9 F el 87
Options:

1) Cadmium

FHefaga

2) Mercury

URT

3) Germanium

SRAfTH

4) Tin

et

Correct Answer: Mercury
9IRT

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - Aqua regia is a mixture of .

31T It (Yerar ITST) T TR0 BT B

Options:

1) dilute hydrocloric acid and concentrated nitric acid.

] ETSZIFAleh 3T TUT T ATgTeh 3Fel

2) dilute sulfuric acid and dilute hydrocloric acidic.

o] HoFGReh 3Tl YT ole] ETSGIFall e ITEel

3) concentrated sulfuric acid and dilute nitric acid.

g, GeFGReh 3 T A ATSTeh 3T

4) concentrated hydrocloric acid and concentrated nitric acid.
Hg GRS IFeT TUT TG, ASfeeh 3Tl

Correct Answer: concentrated hydrocloric acid and concentrated nitric acid.
Tg FESFAIRE IFT TUT Tig, ASfeeh 3Tl

Candidate Answer: [ NOT ANSWERED ]

QID : 85 - In a concave mirror if object is placed at centre of curvature, then image will be

U 31adol guoT 7 I 9 T Tohell Sheg, W IWA &, aF Safet aTell Ffafaee grafr
Options:

1) virtual

JTHTHT

2) erect

grerr

3) diminished

BT

4) at the centre of curvature

EEG K TR tarainy

Correct Answer: at the centre of curvature

T o e W AT

Candidate Answer: virtual
3T

QID : 86 - What is the mass of 4 mole of aluminium atoms?

ToGTATATH & TRATUIS & 4 Fiel T Geda =l #4187
Options:

1) 120 grams

120 ImH

2) 108 grams

108 ImH

3) 136 grams

136 IMH

4) 140 grams

140 g

Correct Answer: 108 grams
108 ImH

Candidate Answer: 108 grams
108 ITH

QID : 87 - Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?

farafaf@a & & 3rfee TIPS F HiaT T FUIN T AN AT Tl T THIAT AT?



Options:
1) Gamma
IMAT

2) Beta
Eial

3) Electron
EREc)
4) Alpha
K1)
Correct Answer: Alpha
3T

Candidate Answer: Electron

golFgl
QID : 88 - Which of the following statement(s) is/are TRUE?

I. Fuse is generally placed in series with the device.
II. Fuse is generally placed in parallel with the device.
III. Fuse wire has high melting point.

frafaf@a & @ #ia a/a Fus a7 §/8?

L. RIS I WA Ifd & @ Ao 7§ o £
L1 TS T A Jire & AT IRawHA H FAifod X 8
III. Wl AR T ITeleAieh 3T giell g1

Options:

1)OnlyI

Fhaol I

2) Only II

Fhael 11

3) Only I and III

Fael I aar 111

4) Only II and III

ael 11 @ 111

Correct Answer: Only I
Shad 1

Candidate Answer: Only I and III
el I o 111

QID : 89 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?

ale o TR T Ueh IR Fsoll ohalt Yerehiar &35 & it il T W 81 37 ool H IR faege arT 1 i  frctel TReH0T & qeend g 82
Options:

1) Two revolutions

ar gofer

2) One revolution

& goie

3) Half revolution

37T gote

4) One fourth revolution

o Fterg goie

Correct Answer: Half revolution
FTEN Ui

Candidate Answer: Half revolution

FATEN OIS

QID : 90 - Noise is measured in which unit?

R Y g SIS & AT ST B2
Options:

1) Watt

atec

2) Faraday

s

3) Pascal

qr&Eshel

4) Decibel

e

Correct Answer: Decibel

EGIER

Candidate Answer: Faraday

s



QID : 91 - Which of the following vitamin helps in clotting of blood?

TAFATITET 7 ¥ hieT AT AT I o ToheeT H TEIIAT T &7
Options:

1) Vitamin A

T A

2) Vitamin B

@t B

3) Vitamin D

=T D

4) Vitamin K

T K

Correct Answer: Vitamin K
RerfdsT K

Candidate Answer: Vitamin B
Tt B

QID : 92 - During heavy exercise, breathing rate in an average adult person can increase upto per minute.

37T ST W F olkie, Y 3itaa aaes 6 eaaaT X gfa Rete a& 93 Tohdr 81
Options:

1) 15

2) 20

3)25

4) 30

Correct Answer: 25

Candidate Answer: 30

QID : 93 - Why is the colour of human blood red?

HIeTT Tl T T Tl T e &7

Options:

1) Because of myoglobin

AR & HROT

2) Because of haemoglobin

A & HROT

3) Because of immunoglobin

SEYATC S 3 HOT

4) Because of heptoglobin

e afaeT & HROT

Correct Answer: Because of haemoglobin
BRI 35 FROT

Candidate Answer: Because of haemoglobin

Erareafae & FROT

QID : 94 - Which of the following statement is INCORRECT?

frafaf@d & & ®id a1 Fu Te 78 &2

Options:

1) Oviparous animal does not give birth to young ones.
3SR i Taeh e fre] T S a7l Soll

2) Each sperm is a single cell.

Yedeh EhIV] Teh Tehed TR T

3) External fertilisation takes place in frog.

Aew H ey AT QT €

4) Fertilisation is necessary even in asexual reproduction.
3rcifaen SieteT A &7 =T 3aeTs gl

Correct Answer: Fertilisation is necessary even in asexual reproduction.
31T Sttet 3 off fdae 3maeT &1

Candidate Answer: External fertilisation takes place in frog.
A H ey e grar 81

QID : 95 - What is the cause of arise of myopia?

e TS Y 3cdesT 8l T FIAT HRUT &7



Options:

1) Excessive curvature of the eye lens.

31TRAT T FohaT 1 31 gl

2) Eye ball becomes too small.

T el T BICT & ST

3) Focal length of the eye lens becomes too long.
3T fr weg Eg@f 311 g

4) Lack of sleep.

aiie; & el

Correct Answer: Excessive curvature of the eye lens.
3THAT T TehdT T 37TH BT

Candidate Answer: Focal length of the eye lens becomes too long.

HTHST T IR gdT 31feF g

QID : 96 - Which of the following multiplies very slowly in comparison to others?

ForaTfoiTrer 3 & aBler gt ot egorert 3 g ¢hX 0T e €7
Options:

1) Bacteria

Shraroy

2) Virus

sy

3) Fungi

Exca

4) Worms

FfH

<
Correct Answer: Worms

Cor:y

[

Candidate Answer: [ NOT ANSWERED ]

QID : 97 - The accumulation of non-degradable chemicals progressively at each trophic level is called

JAh SRl TR W 7S¢ o g J9g [W=A1 1 TaF FEAT ¢
Options:

1) biological magnification

Sifaeh gigshor

2) chemical magnification

Tarafere gigayor

3) residue magnification

Y gl

4) No option is correct.

#1$ fasea @ 1t €)1

Correct Answer: biological magnification
St gigentor

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Why Taj Mahal is suffering from "Marble Cancer"?

Options:

1) Because of sulphur dioxide

Toh STS3HTFATSS & HROT

2) Because of nitrogen dioxide

ATSEISTT STSIHTFATSS o HROT

3) Because of chloroflurocarbon
FARTFARIRIET o HROT

4) Because of carbon dioxide

FIeeT SEIHTFATSS F FHROT

Correct Answer: Because of sulphur dioxide
Foh SE3HTFAISS & HROT

Candidate Answer: Because of sulphur dioxide
TR STHTFATSS & HROT

QID : 99 - Cancer treatment is done by which of the following noble gas?

FAT 1 37ER el 7 8 wia 8@ 3 e ganr e arar 82



Options:

1) Helium

gifora

2) Radon

&

3) Krypton

[Eacac

4) Neon

30T

Correct Answer: Radon
e

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - How many types of ecological pyramids are present in ecosystem?

qIRFEATAHT a7 7 frcet 7R & TRy afas aia 82
Options:

1) Two

ar

2) Three

GG

3) Four

IR

4) Five

9

qr
Correct Answer: Three

Gic
Candidate Answer: [ NOT ANSWERED ]

QID : 101 - Which one of the following brick is suitable for the high-class brick masonry?

Trafafad $c & @ Fla &1 v 357 Aoft % $e Remg & fav s9gaa &2
Options:
1) Bull nose bricks
o AT $E
2) Jhumb bricks
o (79) §
3) Modular bricks
- r &
4) Under burnt bricks
FH ol §&
Correct Answer: Modular bricks
s . &
Candidate Answer: Under burnt bricks

FHH Sl §&

QID : 102 - Which of the following is the correct reason for soaking the brick in water before its use?

feafafd & & HiT 1 $¢ 1 3TH 3T F Tger I 3 TR 7 T FROT E?
Options:

1) For preventing adsorption of moisture from mortar by bricks

$2T GaRT Wod H FHT T WG It & fow

2) For reducing air void

ary Rt 1 5 F1 & T

3) For reducing efflorescence

Scheolel e A & foT

4) For cleaning

TTF FLA & T

Correct Answer: For preventing adsorption of moisture from mortar by bricks
$et gaRT Wodt ¥ AT T W@ Vet & forw

Candidate Answer: [ NOT ANSWERED ]

QID : 103 - Which of the following compound affects the ultimate strength of cement?

AT F A Fi @r i dide T ) e S gead wdr 8?7



Options:

1) Dicalcium silicate

31 e Rfase

2) Tetracalcium alumino-ferrite
3) Tricalcium aluminate

15 SHfeerH FgfAeie

4) Tricalcium silicate

15 Hforrr# fafase

Correct Answer: Dicalcium silicate

3 Shieeras e

Candidate Answer: Tetracalcium alumino-ferrite

eI HieREH HATAA-HISE

QID : 104 - Refractory bricks are generally used to resist .

FEFr s Im AR W ____ iy ate & fow R e 81
Options:

1) chemical action

T H foRaT

2) dampness

THT

3) high temperature

3= dT9HTT

4) weathering action

e foRam

Correct Answer: high temperature

3= d9ATeT

Candidate Answer: [ NOT ANSWERED ]

QID : 105 - Which of the following is the correct percentage of maximum moisture content based in sand where change in volume is maximum?

FEfTEd & @ Sl a1 3 & oua 3ifReds 7@ &1 98 wiaerd &, S8t 3madeT & aRad 3if8add grar 87
Options:

1) 5%

2) 9%

3) 12%

4) 15%

Correct Answer: 5%

Candidate Answer: [ NOT ANSWERED ]

QID : 106 - Which one of the following cement is best for the marine works?

e & @ e @1 e gy it & v wafeas 82
Options:

1) Blast furnace slag cement

qTcAT-HET of1aT Hofe

2) High alumina cement

3o TefHeT Hieie

3) Low heat Portland cement

Fa It aicels deie

4) Rapid hardening cement

offer I&a deie

Correct Answer: Blast furnace slag cement
ITcAT-HET o1aT Hoe

Candidate Answer: Rapid hardening cement

ofrer I&T deie

QID : 107 - Which of the following is limit of the moisture content that can be achieved in the air drying process of timber?

To0a=t & @ et A AT AT BT AT & THGehT oehgy kT ATy <MoT A Gfoham & yree fohar ST enelm 87
Options:

1) 10%

2) 15%

3) 20%

4) 28%

Correct Answer: 15%

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - Which of the following proportion of cement and standard sand is used in cement mortar while testing the compressive and tensile strength of cement?

e 3R AT I & @ U Wiie Tool H GI9T 3T S €, STafeh & ddise 3R dearel drend a1 aIeTor #d §?



Options:
1) 1:2

2) 1:3
3) 1:4

4) 1:6
Correct Answer: 1:3
Candidate Answer: [ NOT ANSWERED ]

QID : 109 - Which of the following is the important factor that affects the shrinkage of cement concrete?

e # @ la-ar Agcaqol FRe § S diefe Hihe & Bks # genfaa #ar &2

Options:

1) Quantity of cement

e fr AT

2) Size of coarse aggregates

FeT HH=HY T ITHR

3) Size of the fine aggregate

& FHTT T HHER

4) Amount of water added during mixing of concrete

AT & Raror & o RET gl Hramr

Correct Answer: Amount of water added during mixing of concrete

BT & THAOT & R TR it 7 AEr

Candidate Answer: Amount of water added during mixing of concrete

T2 & THAOT & SR TR areit 7 AEr

QID : 110 - Calculate the proportion (in percentage) of fine aggregate in combined aggregate so that the fineness modulus of the combined aggregate becomes
6.4. The fineness modulus of coarse aggregate and fine aggregate in the concrete mix is 7.6 and 2.8 respectively.

TYFT oo A GEH THoTY & AT (FTARAT ) T I0TAT Y Aok FFFeT e ohi YEHAT HIUTh 6.4 81 ST | Fhshre 0T 3 FeT Foeud iR qod oeay Hi
FEHAT AT FAT: 7.6 3 2.8

Options:

1) 20

2)33.33

3)35

4) 66.6
Correct Answer: 33.33
Candidate Answer: [ NOT ANSWERED ]

QID : 111 - Which of the following unit is used for estimation of D.P.C. work?

TorFeT 3 @ TorE SIS 1 YT D.P.C. F1 & 3HTehelel & ToIT fhaT ST &7
Options:

1) Number

&

2) Cubic meter

el HIeX

3) Running meter

TiAer Hiex

4) Square meter

a7 #Hrex

Correct Answer: Square meter

a7 #Hrex
Candidate Answer: [ NOT ANSWERED ]

QID : 112 - Calculate the quantity of the sand required (in cubic meter) in 20 cubic meters of reinforced cement concrete (1: 2 : 4).

(1:2:4) yaford Heie Fshie & 20 GeT HIeX # T2 Yd T AT (TT HIex ) HT 07T HY|

Options:
1) 2.87

2) 4.4
3)5.7

4)8.8
Correct Answer: 8.8
Candidate Answer: [ NOT ANSWERED ]



QID : 113 - Deduction at cross wall for total length of the central line is .

HERT Y@ AT F dTs F U FE daR wFSd R
Options:

1) half of thickness of wall.

SR & Alers & 3mer

2) no deduction.

HIg FHeldr AT

3) thickness of wall

&R 6 Alers

4) twice of the thickness of wall

&R R AeT$ T gregeT

Correct Answer: thickness of wall

&R 6 Alers

Candidate Answer: twice of the thickness of wall

&ra o FHer$ T arfeT

QID : 114 - Calculate the quantity of the earth works in cubic meter for a canal embankment of 100 m long having cross section areas at the two sections are 20
square meters and 80 square meters. Use trapezoidal method.

100 #eX & U AgT & AT Gerg i AT v HieT F Y TG 3o e arAthel &l T #H 20 797 HeX 3R 80 79 ey §| wHEeRaTRR Fafer v ger wY|

Options:
1) 2000
2) 5000
3) 7000
4) 10000

Correct Answer: 5000
Candidate Answer: [ NOT ANSWERED ]

QID : 115 - Accuracy in measurement of the area should be

&7 T AT H FEHhal _____ gl aTev|
Options:

1) 1 square centimeter

1 3ot T

2) 10 square centimeter

10 3o Féreex

3) 100 square centimeter

100 g7 HEHER

4) 1 square meter

1 997 #Hex

Correct Answer: 100 square centimeter

100 73t Fdarex
Candidate Answer: [ NOT ANSWERED ]

QID : 116 - For estimation of painted area of corrugated asbestos cement sheets, percentage increase in area above the painted area is

ATHER THaFed e ofic & R &1 3meare & T, FaTd &7 & F9 a7 7 gfoerd 3fe gl
Options:

1) 10%

2) 14%

3) 20%

4) 25%

Correct Answer: 20%

Candidate Answer: 20%

QID : 117 - Which of the following is the purpose of the valuation?

T 7 @ o1 AT Ueh FHodiehet HT 3227 82
Options:

1) Approximate estimation of cost

SATIT T G AT

2) Analysis of rate

X 1 fageror

3) Detailed estimation of cost

AT b7 eyt AT

4) Taxation

F-feoT

Correct Answer: Taxation

F-freoT

Candidate Answer: [ NOT ANSWERED ]



QID : 118 - An electric generator is installed in the building at a cost of Rs. 50,000. Calculate the annual sinking fund (Rs.) required to be deposited to accumulate
the whole amount of 5% compound interest. Assume the life of the electric generator as 10 years.

879 # 50,000 T T AR I Teh FrToll T ST TATIS 51 747 § | 5% Tehq & SArer T LT IR STAT et & Forw smmaeares anfiies o7 aiverey ffRy (F99) v aroren
HY| AT T forstell T ST & Shasterer 10 a¥ #1

Options:
1) 1535

2) 30695
3) 3975

4) 79503
Correct Answer: 3975
Candidate Answer: [ NOT ANSWERED ]

QID : 119 - No deduction is made for opening in estimation of masonry work up to

TReTTS & 1 % 37T & oo & T 18 ke gt Fr ag
Options:
1) 1 square centimeter
1 3ot Fdaex
2) 10 square centimeter
10 g Férefex
3) 100 square centimeter
100 g7 HE@HE
4) 1000 square centimeter

1000 Fa7 FeHrex

Correct Answer: 1000 square centimeter

1000 FF F&#HeR
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Calculate the weight (kg) per meter length of 25 mm diameter steel bar place at a spacing of 250 mm center by center for 1 meter.

25 ﬁwﬁmmaﬁﬁqﬁmﬂm%m(ﬁﬁﬁ)Eﬁrmaﬁwsﬁrww*ﬁvéﬁmzsoﬁwﬁéﬁﬁqﬁwwgm%l

Options:
1) 0.96

2)3.85
3)7.7

4) 15.43
Correct Answer: 15.43
Candidate Answer: [ NOT ANSWERED ]

QID : 121 - Which one is the upper limit of survey area (square kilometer) for use of plane survey?

T TETOT & 3T o ToIT TFTT &3 (F97 FFeliaiex) Fr F97 WA FieT AT &2

Options:
1) 250

2) 300
3) 350

4) 450
Correct Answer: 250
Candidate Answer: [ NOT ANSWERED ]

QID : 122 - Which one is the smallest scale?

Fid TET T ST ATIS &7

Options:
1)1:100

2)1: 500
3) 1: 1,000

4)1:2,500
Correct Answer: 1 : 2,500
Candidate Answer: 1 : 2,500

QID : 123 - Aline of true length 398 m when measured by a chain of 20 m chain is recorded to be 400 m. What is the actual length of the chain (in m)?

TEY TS 398 FHieX ¥ v GfFd I 20 FHex SR HI T Stk A AT ITT Y TR TS 400 FIeT ol T 1S §| Soi} 1 arediass siars (e ) Fr &2



Options:
1) 19.9

2)20.1
3) 20.4

4)21.5
Correct Answer: 19.9
Candidate Answer: [ NOT ANSWERED ]

QID : 124 - Calculate the correction for temperature for a tape of length 'L’, if the increase in temperature is ‘T’ above the standard temperature. The coefficient of
the temperature for tape material is ‘a’.

qES L 1 T & ATTHTT o TTT GER T 07T Y, 3R AHA & i AeTeh A9 & T IR §1 ST HHA T AGHA I[oTieh 'A' B
Options:

1) aT/L

2)-aT/L

3) +aTL

4) -aTL

Correct Answer: + aTL

Candidate Answer: - aT/ L

QID : 125 - What is the correct sequence of the temporary adjustment of level?

FCR & IEATS GARIIS T FET Ieohal T 87
Options:

1) Centering, leveling and setting

FERTOT, THAA 3R FARASA

2) Leveling, setting and centering

HHTT, AT 3 hgieor

3) Setting, centering and leveling

HATIISTT, HER0T 3R FHdeT

4) Setting, leveling and centering

HATST, HHATT 3 Shgreor

Correct Answer: Setting, centering and leveling
FARNS, HEor IR THETAT

Candidate Answer: [ NOT ANSWERED ]

QID : 126 - The values of whole circle bearing vary from

WIATRAF A G agadrs |
Options:

1)

0° to 90°

2)
0° to180°

3)
0° to 270°

4)

0° to 360°

Correct Answer:

(° to 360°
Candidate Answer:
(¢ to 360°

QID : 127 - Which of the following statement is correct for proper adjustment of the theodolite?

ATETATST & 3T TATIISN o [T Tt 7 & st AT FUF TET 82
Options:

1) Axis of plate level is perpendicular to the horizontal axis

TIT TR T 3787, SHfreT 3187 & Siead

2) Line of collimation is perpendicular to the horizontal axis
HYTeRET, &S 3787 & o ad &

3) Line of collimation is parallel to the vertical axis

FUTRQET, FEATER 38T % AR &

4) Line of collimation is perpendicular to the vertical axis
TEUTAGET, FEATER 38T o sigad &

Correct Answer: Line of collimation is perpendicular to the horizontal axis
TR, & 3787 & dad &

Candidate Answer: [ NOT ANSWERED ]



QID : 128 - Which of the followings are correct for sensitivity of the bubble tube?

ool T FT Hagerlera & fov eafaf@a & @ i wdr €2

Options:

1) Sensitivity decreases with increase in internal radius of the tube
TS & AR Brsar # 9iE & @y dacerelierdr F# & S &

2) Sensitivity decreases with increase in diameter of the tube.
TIF & T H G F T FAGAAeIdT FH & A

3) Sensitivity increases with decrease in length of the tube.

TIF T oIaTS F T F ATy HAaTRAeAdT ¢ ST §

4) Sensitivity increases with decrease in viscosity of the liquid.
T TETS T QATHAT H FHHY F AL FeeT2Nerdr 5¢ el §

Correct Answer: Sensitivity increases with decrease in viscosity of the liquid.
R Uere T AT H FHT F AT HacTefelar ¢ el &

Candidate Answer: [ NOT ANSWERED ]

QID : 129 - Calculate the curvature correction (in m) if distance between the instrument and staff is 500 m.

T UR (HIeX H) 1 0T Y 3R 30T AR FeToh & afrer 37 gdr 500 #HreT B

Options:
1) 0.0196
2)-0.0196
3) 0.0028
4)-0.0028

Correct Answer: —0.0196
Candidate Answer: [ NOT ANSWERED ]

www.allexamdost.com

QID : 130 - Calculate the volume of the earthwork (in cubic meter) using trapezoidal method if the cross section areas of the three section of embankment at an

interval of 20 m are 40 square meters, 50 square meters and 80 square meters.

FHAFTHR FaT &7 U7 X GaTs 1 AT (T HieT 7) HT A0 Y, 3R 20 HIeX & HRTe TR I FIE & did TS & IR Jeatiel &1aher 40 F97 #1e, 50 o

#Hrex 31 80 FaT Hrex £

Options:
1) 1067
2) 1700
3) 2200
4) 3200

Correct Answer: 2200
Candidate Answer: [ NOT ANSWERED ]

QID: 131 -The soil transported by the gravitational forces.

TEcATHYOT S GART______ TEY 7 3rvareet e B
Options:

1) alluvial soil

ECicAtH)

2) colluvial soil

I fAg

3) loess

Forert dhifey o78r FveT

4) till

oo

Correct Answer: colluvial soil
FTall THET
Candidate Answer: [ NOT ANSWERED ]

QID : 132 - Which of the following is determined with the help of pycnometer?

FT 7 & FieT RaAieex 1 Fgrrar & ek grar g2
Options:

1) Dry density and specific gravity

T Teica 3R faRise qeca

2) Void ratio and dry density

ReereT 3171l 3 gseh Tefed

3) Water content and specific gravity

ST |TEaT 3R faRISe Tcq

4) Water content and void ratio

STl FTAEAT 3R el 37e7d1ed

Correct Answer: Water content and specific gravity
STeT | 3R faRrse aeed

Candidate Answer: [ NOT ANSWERED ]



QID : 133 - The cell pressure and pore water pressure is increased from 0.1 N/sq. m to 0.26 N/sq. m and 0.07 N/sq. m to 0.15 N/sq. m respectively in the triaxial
test. The Skempton’s pore pressure parameter is given by. .

AT ga1a 3R STl T T garg 0.1 ToT / o7 HeX § 0. 26 U / a7 #Hrex 31K 0.07 weT / @91 Hex ¥ 0,150 / Fo7 Hiex FAen: JAile qfiefor Feg arar | e & ool
T¢f T gaTg IRAT ganr RRwaw § 1

Options:

1)-3

2)-0.5

3)0.5

4)2

Correct Answer: 0.5

Candidate Answer: [ NOT ANSWERED ]

QID : 134 - Which one of the following shows time factor (approximate), for 50% degree of consolidation?

7= #F & e &7 50% f3aft et & & fow v @ aqures (3rgenierd) i ferar 82

Options:

1)0.2

2)0.5

3)1

4)2

Correct Answer: 0.2

Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Which one of the following is true about ideal fluid?

TXFT # & FieT AT U 31G2T 5 & 9N H H@EE?
Options:

1) It is compressible.

g AT &

2) It is incompressible.

REESEIECE

3) It has high shear force.

SHH 3T Heell 5T ©

4) It has high value of viscosity.

SHH 3T AT R

Correct Answer: It is incompressible.
Candidate Answer: It is incompressible.

g IEpTad &
QID : 136 - The diameter of droplet is 0.075 mm. What is the intensity of the pressure (N/sq. cm) developed in the droplet by surface tension of 0.000075 N/mm?

BIET 4g &1 = 0.075 & €1 0.000075 T/ THUH & HAE dela & BT 95 # [ a gara (v / 797 Gt 1 saerar #2182

Options:

1)0.4

2)0.6

3)0.8

4)1

Correct Answer: 0.4

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - A rectangular block of dimensions 2 m x 1 m x 1 m is floating in the water with immersing depth of 0.5 m. What is the weight of block (kN) if unit
weight of water is 10 kN/cubic meter.

U TIATHR sclleh T A 2 A x 1 #Hr x 1 A, ﬁwo.sﬁawﬁ#ﬂawg&nm@*mqﬁrﬁmm%l Sallen T Fofet 2T & (Tohall #2eeT) 3PR Il
T JfAe aateT 10 el =g / uet HieT 1

Options:

1)5

2) 10

3)15

4)20

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - On which principle equation of continuity is based?

FoRaRar 1 @FEeoT vl fAegia o) 3menRa &7



Options:

1) Conservation of energy

AT T TIETIT

2) Conservation of mass

ST AT T FI&TOT

3) Conservation of momentum

TfeY AT TIETOT

4) All option are correct

ot e T &

Correct Answer: Conservation of mass
GEIHATT ST EIETOT

Candidate Answer: Conservation of energy
FSAT ST TETOT

QID : 139 - If Reynolds numbers are 1000,000, then what is the approximate value of friction for the smooth pipe?

I Fiesd HEATT 1000,000 & A Rt 1sw & T aor &7 Sreganfard A Fr §?

Options:
1)0.1
2)0.01
3) 0.001
4) 0.0001

Correct Answer: 0.01
Candidate Answer: [ NOT ANSWERED ]

QID : 140 - Which one of the following is correct for impulse turbine?

=T & O Pl T@T U 9T XaTeA & T g 8?7

Options:

1) Always operates in submerged condition

EHLT STEHIST glerdT & ol &

2) Converts pressure head into velocity with the help of vanes
TedT T AGE W GaTd &3 T 997 7 Seol &l &

3) Operates by initial complete conversion to kinetic energy
aTfST Frt 3 Fore TR qof STeRoT ¥ ST g §

4) Operates by initial complete conversion to potential energy
feufarsT Froft & T WS ot FuiaRoT & Fafad gr &
Correct Answer: Operates by initial complete conversion to kinetic energy
aTfST Frt 3 o TR qof wTeRoT F ST g ¥
Candidate Answer: [ NOT ANSWERED ]

QID : 141 - When the water drawn from the central hole made in wash hand basin, the type of flow of water is

IS I g1 U & 9f8T F FET O § e Sdr 8, 9 & vamE & 96N gl
Options:

1) forced vortex

CIECRIEN

2) free vortex

FFT HR

3) tangential flow

T9eT yaTg

4) transitional flow

Hepifas JaTg

Correct Answer: free vortex

T HR

Candidate Answer: [ NOT ANSWERED ]

QID : 142 - Which of the following turbine is suitable to generate the power of 10,000 hp, working at the speed of 500 rpm under a head of 81 m?
o= 3 @ ler A TS 10,000 T T AfFe Seveet tet T SUIFA 8, 81 HIeT & U 83 & oA 500 IRATH ¥ afer & F1T H T 82
Options:

1) Propeller

geR

2) Francis

LIty

3) Kaplan

Eacic)

4) Pelton

Jelee

Correct Answer: Francis

Eaitrcy
Candidate Answer: [ NOT ANSWERED ]



QID : 143 - Calculate the specific energy (m-kg/kg) of the flow if the velocity of flow is 2.22 m/s and depth of flow is 1 m.

I JaTg & A97 2.22 HieX / Qehs & 3 varg i1 71e0s 1 #ie & ar fafRrse Fait &1 310 (v o / fomam) & &30

Options:
1) 1.25
2)2.22
3)3.22
4)4.22

Correct Answer: 1.25
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - The sphere of diameter 0.02 m is falls in the fluid of kinematic viscosity 10 stokes with the terminal velocity of 0.02 m/s. What is the value of coefficient
of drag on the falling sphere?

0.02 Fiex =g & el 7 0.02 #r / T & THTel 397 & AT fihr QAT 10 FIFE % & # R el §1 TRy e o Tieret % a[otier &7 AT 77 82
Options:

1) 40

2) 60

3) 80

4) 100

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 145 - As one moves from head of the canal to the field, the duty of the water .

TE F 88 W AF HalT o U ol & &9 # g A arex ___ §l
Options:

1) decreases

geary

2) either increases or decreases

IT A S&ar A1 gedr

3) increases

Sedr

4) remains constant

Teh GATA

Correct Answer: increases

Sedl

Candidate Answer: [ NOT ANSWERED ]

QID : 146 - Which of the following is the correct assumption of the Kennedy'’s theory?

foresT 7 & FieT § SHoidr Rrgia 1 Ty aRom &2

Options:

1) Shape of regime channel is semicircular.

IS ATl FT 3THR 3T &

2) Silt is in suspension due to buoyancy force.

3cCATasT Il o HROT, Y@ITSG feTeiseT & gIaT &

3) Silt is in suspension due to eddy formed from bottom of channel.

Tl T TAg W R 3cUeeT g1t & HROT, WG TelciseT 3 giaT |

4) Silt is in suspension due to eddy formed from wetted perimeter of channel.

Ao F1 3T IR B F FROT, T@og freiee F gar ]

Correct Answer: Silt is in suspension due to eddy formed from bottom of channel.
IoTeT T FAE W HAR 3c9eT el o HRUT, YATTOG feleiast # aial g
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - What is the value of the lateral coefficient of the friction as per the IRC?

ISR & AR TV 3 RS 0TI T AT FT 52

Options:
1) 0.007
2)0.01
3)0.15
4)0.3

Correct Answer: 0.15
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - Calculate the safe stopping sight distance (in m) for the descending gradient of 3% for a design speed of 80 km/h. Take coefficient of friction as 0.35
and total reaction time as 2 seconds.

80 frel/eruer Y veh fEmsat 1 a1fer & fAw 3% & 37aieh aret & v gefara e efSe g (#fex #) v a1orar Y| wdor & I[oTieh 7 AT 0.35 3R For wfafrar vz 2
Tehs AT |



Options:
1) 110.82
2) 123.26
3) 1018.41
4) 1092

Correct Answer: 123.26
Candidate Answer: [ NOT ANSWERED ]

QID : 149 - Which of the following is the minimum limit (ppm) of the dissolved oxygen that must be in the water for survival of aquatic life?

Tl 7 8 Fe 9 [ufea siaeet i wgaas @ (ddvw) & S e siae & ifedcd & e o 31 gl anee?
Options:

1)1

2)4

3) 10

4) 40

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 150 - A stream has flow of 20 cumecs and BOD concentration of 10 mg/I receives the industrial waste water having flow of 1.5 cumecs and BOD
concentration of 250 mg/l. What is the BOD concentration (mg/l) of stream at downstream point of meeting of stream with industrial waste?

Teh 4R T &g 20 FHFH Hs & ST 10 FAame / et T Si3iST vhrarar & |y 3ieaifiies HeR 7 Il 1.5 FYAFH & Farg 3R 250 AT / ver & i3isr Tehmarar
T YT T & | 3HeTITeh e & T ORT T (el & 3feqyrarg foig 0 arT & 13 vehrardm (e / oiex ) Far §?

Options:

1) 2.67

2) 12.09

3) 13

4)26.74

Correct Answer: 26.74

Candidate Answer: [ NOT ANSWERED ]

QID : 151 - A riveted joint may experience

v AT R §U S5 T ST 31379 &1 Thell &
Options:

1) shear failure

FAGT [Awerar

2) shear failure of plates

ToIeT T FHAAT [Twerar

3) bearing failure

foraRer fawerar

4) All option are correct

wofr e wey &

Correct Answer: All option are correct

[T fasheT Tér
Candidate Answer: [ NOT ANSWERED ]

QID: 152 - If p and d are pitch and gross diameter of rivets, the efficiency (n) of the riveted joint is given by

mpsﬁ:dﬁa&ﬁiﬁﬁwmmmaﬁﬁézﬁ:&g@sﬁgaﬁram(n)aﬁﬁmﬂ?aﬁmﬁmm%

Options:

1) n = p/(p-d)

2) n = p/(p+d)

3) n= (p-d)/p

4) n = (p+d)/p

Correct Answer: n= (p-d)/p
Candidate Answer: [ NOT ANSWERED ]

QID : 153 - If the moment of inertia of a section about its axis is | and its effective sectional area is A, its radius of gyration r about the axis is

3IPR SHA! Y & TR H U T3 T 317 1 &707 | § 31 30 germelr 3regermelar &1 A €, o 3787 o AR 3 amerere oy e r gl

Options:
1)r=1IA

2) r = V(I/A)
3) r=V(A/T)

4) None of these

ST A FIS AET

Correct Answer: r = V(I/A)

Candidate Answer: [ NOT ANSWERED ]



QID : 154 - Allowable working stress corresponding to the slenderness ratio of double angles placed back to back and connected to one side of a gusset plate is
reduced to

TAIRIY FFBIST AT ST ETeX PV o FE GeTAI g1 & I8 &, T I Teh W €% & T 31K Ueh TRE vole & T &0 & S8 g% & o 9 g €l b ae
AT

Options:

1) 50%

2) 60%

3) 70%

4) 80%

Correct Answer: 80%

Candidate Answer: [ NOT ANSWERED ]

QID : 155 - According to I.S. : 800 — 1871, lacing bars resist transverse shear equal to

FTSTH : 800 - 1871%F ITAR , AT Fare Faerdiey 31e7oreer ety 7 favrer TR FLAT 8 1
Options:

1) 1.0 % of the axial load

37877 HR &7 1.0%

2) 2.0 % of the axial load

37877 HR &7 2.0 %

3) 2.5 % of the axial load

3787 HR &7 2.5 %

4) 3.0 % of the axial load

3787 AR &7 3.0 %

Correct Answer: 2.5 % of the axial load
37T IR &7 2.5 %

Candidate Answer: [ NOT ANSWERED ]

QID : 156 - Pick up the correct statement from the following

=T 7 & FEr HYUT A0

Options:

1) Loaded columns are supported on column bases
1S fohT 37T FH, T ITUR T MR &1 §

2) Column bases transmit the column load to the concrete foundation
HIcH & MUR TAH NS P 3 g W ga@RT R &
3) Column load is spread over a large area on concrete
TS $TR Shehlec TR U 92 817 & hem gar ¥

4) All option are correct

ot fmeT we &

Correct Answer: All option are correct

ot e 7 &

Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the composition of good bricks, the total content of silt and clay, by weight, should not be less than:-

BT St T T & T, g 3R A &1 o warew, ARA, H A 8T BT AR |
Options:

1) 20%

2) 30%

3) 50%

4) 75%

Correct Answer: 50%

Candidate Answer: 20%

QID : 158 - In factory buildings, the horizontal beams spanning between the wall columns supporting a wall covering are called

FRETA T SARCT H, Teh SIaR T HARAT I TERT &l dTel SR TAHAT & &g ther ST &7 Fr wer JA@T 8
Options:

1) stringers

egearet

2) trimmers

R

3) girts

o

4) lintels

rreea

Correct Answer: girts

o
Candidate Answer: [ NOT ANSWERED ]



QID : 159 - The average shear stress (in kg/ cm?) for rolled beam section, is

ez &I 379 & AT JHrad Fatel aara (6. ar/d#?) & grar d

Options:
1) 845
2) 945
3) 1025
4) 1500

Correct Answer: 945
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - Web crippling generally occurs at the point where

a9 fopufeiar AR T 39 g o glar & et
Options:

1) bending moment is maximum

el T &T0T 3TTRIheid &

2) shearing force is minimum

frafer aa RTaa &

3) concentrated loads act

Fia os T

4) deflection is maximum

feoor 3ifsaa &

Correct Answer: concentrated loads act
Fia os T

Candidate Answer: [ NOT ANSWERED ]

QID : 161 - The strength and quality of concrete, depends upon:

Fshie &I dTehd 3R uTdedr, 38 W R we &
Options:

1) grading of aggregates

Ty I AT

2) surface area of aggregates

I HT TG &TTHe

3) shape of aggregates

HHTIT T HHR

4) All option are correct

e RweT T8 &

Correct Answer: All option are correct
g Ao a8 &

Candidate Answer: shape of aggregates
HHTAY HT HHR

QID : 162 - The process of adding water to lime to convert it into a hydrated lime is termed as:-

gﬁﬁmaﬁﬁwsﬂmﬁ%?ﬁﬁqﬁaﬁﬁmﬁm FEAATE |
Options:

1) watering

arefiar

2) baking

SfeRar

3) hydration

REECH

4) slaking

Fafdhar

Correct Answer: slaking

TelrfenaT

Candidate Answer: slaking

Torfenar

QID : 163 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the aggregates will be known as elongated
aggregate if its length is not less than

IR T G g § 75 T & 3R T Gofell § o § 3R 60 THT TR T Tofell T F=ATT TWT ST & A T Fl e FAThd & §T H ST S0, I
FHRT TS SHE F3A AT SNl &

Options:
1) 81.5 mm

2) 91.5 mm
3) 101.5 mm

4) 121.5 mm



Correct Answer: 121.5 mm
Candidate Answer: 81.5 mm

QID : 164 - The calcination of pure lime result in:-

g T & fAeuie (Hiewerere) & aRome :-
Options:

1) quick lime

e/ 3eTgeT o

2) hydraulic lime

gregifores o

3) hydrated lime

FTeRies o

4) fat lime

e

Correct Answer: quick lime
AR/ 3rTae o1

Candidate Answer: quick lime
cafd/3rTae o1

QID : 165 - Pick up the correct statement from the following

e # & TEr FUS gew

Options:

1) An increase in water content must be accompanied by an increase in cement content
aﬂmﬁaﬁ'mmﬁaﬁrﬁmmm

2) Angular and rough aggregates reduce the workability of the concrete

0T 3R HIE e, FHhic & HIHAIST BT HH HI &

3) Large size aggregates increase the workability due to lesser surface area

A 3TTHR & &TTRel & HRUT T3 THR & FHeed HIHGS H g hidl §

4) All option are correct

T RFeT a8 &

Correct Answer: All option are correct

o Rwer a8 &

Candidate Answer: An increase in water content must be accompanied by an increase in cement content

Stef |l 7 gfE deie amal 7 gie & @y g ke

QID : 166 - According to I.S. 456, the number of grades of standard concrete mixes are

FTSTH : 456, % AR 3 (Fnre) Aed & Is fr e
Options:

1)3

2)5

3)6

4)7

Correct Answer: 7

Candidate Answer: 6

QID : 167 - Curing a concrete for long period ensures better

W FHY e sheplic T TR el § Tg GIelT SgeX cilteh A GieATRere gialr &
Options:

1) volume stability

AT R T

2) strength

afed

3) water resistance

STeT IfeRieT

4) All option are correct

o Rwer a8 &

Correct Answer: All option are correct

o RweT T8 &

Candidate Answer: strength

orfera

QID : 168 - The main object of compaction of concrete is

FhIE & FToTel hT HEY 327 gIaT § o



Options:

1) to eliminate air holes

&A1 G &I TcH HA & [T

2) to achieve maximum density

HTAFHAH Telcd T A & oI

3) to provide intimate contact between the concrete and embedded materials
ehie 3R TFs Tl & i AT TuF Tar R & o

4) All option are correct

T RFeT T8 &

Correct Answer: All option are correct

o Rer a8 &

Candidate Answer: to eliminate air holes

§aT B¢ &l WcH el o [l

QID : 169 - Construction joints are provided

Options:

1) where B.M and S.F are small

18T BM 3R SF BT §

2) where the member is supported by other member
STET Her T GEY Hedd EaRT HA YT §

3) at 18 m apart in huge structures

TarRITer T3 & 37erar 18 #Hel & gl W

4) All option are correct

T e a8 &

Correct Answer: All option are correct

Tl e @dr §
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - Pick up the correct statement from the following

T & ¥ T Y §aT

Options:

1) Construction joints are necessarily planned for their locations
TAATOT SAEh &Y 37 T & T S d | &R Ay

2) Expansion joints are provided to accommodate thermal expansion
U TIEaR T GAATSIT a3 & T AR Siig gereT e sirar &

3) Construction joints are provided to control shrinkage cracks

s arel IRt 1 AR aer & fore faafor s suerser s S §
4) All option are correct

T RFeT a8 &

Correct Answer: All option are correct

ol Reroq @& &
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - Grading of sand causes great variation in

X 1 AT g TgT ST Be=Aal 1 FHROT FaAell &
Options:

1) workability of concrete

FHShIC o HIHBIST

2) strength of concrete

FSRIT ST dThd

3) durability of concrete

FHIT F TR

4) All option are correct

T Rwer a8 &

Correct Answer: All option are correct

g e a8 &

Candidate Answer: All option are correct

T RFeT a8 &

QID : 172 - The light weight aggregates are obtained from

FH dofell T SHY T R ST &



Options:

1) sedimentary rocks
LEECAUCHC)

2) metamorphic rocks
ACTAR ek TgleT

3) igneous rocks

I I

4) volcanic source

SaTATE Fd

Correct Answer: volcanic source
SaTeTE i

Candidate Answer: [ NOT ANSWERED ]

QID : 173 - The bulk density of aggregates depends upon its

FHIT HT U Tefed 38 W AR X §
Options:

1) shape

TP

2) grading

AT

3) compaction

HYT

4) All option are correct

o RweT a8 &

Correct Answer: All option are correct

g e a8 &

Candidate Answer: All option are correct

T RFeT a8 &

QID : 174 - Batching error means inaccuracy in the quantity of

AfRfer e 7 AT § gES A A T
Options:

1) aggregates

Hﬂataa

2) cement

bz

3) water

Ty

4) All option are correct

o e T &

Correct Answer: All option are correct
wofr e wéY &

Candidate Answer: [ NOT ANSWERED ]

QID : 175 - The center needle of the attachment of the Vicat plunger projects the circular cutting edge by

e TeloR & 3ieJeleeieh g hl 3 $h CaRT Jeald Hels ToT i gefiel §

Options:
1) 0.2 mm

2) 0.5 mm
3) 1 mm

4) 5mm
Correct Answer: 0.5 mm
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - The flakiness index of aggregates is the percentage by weight of particles in it whose thickness is less than

FHTA T Jegall Gahish IH HUN & Folel H Fid2rd §, et Aecrs REE
Options:

1) 2/5th of mean length

3itaa oeTS @ 2/5

2) 3/5th of mean length

3itaa SieTs @ 3/5th

3) 4/5th of mean length

3itaa SieTS @ T 4/5

4) None of these

3o & A



Correct Answer: 3/5th of mean length
3 oS @ 3/5th
Candidate Answer: [ NOT ANSWERED ]

QID : 177 - The field test for the quality of cement consists in putting a small quantity of cement in a bucket containing water. A good quality cement will:

e T IUTdedl & TIT hies T&C & Il 1 Teh dlect & AT T T AT STefaT o gim &1 Ueh 37ed JoTacaT arel dide:
Options:

1) immediately dissolve in the water

T I F T S §

2) float on the water surface

Tt T TdE W FAlC Y

3) sink to the bottom of the bucket

oL o ATl | g ST &

4) produce the steam

7T ST 3G T &

Correct Answer: float on the water surface
Tt T TdE W FAlC Y

Candidate Answer: sink to the bottom of the bucket
ITeEY & el 7 g9 AT &

QID : 178 - For the repair of roads

HSH HT AFAT & fow

Options:

1) low-heat cement is used

e IHT Wi T sTAATe ThaT ST

2) rapid-hardening cement is used

AT T TET gleT aTell T T STAATS FoHIAT ST &
3) high-alumina cement is used

FTI-3eg[HAT T HT 3TN T STl §

4) sulphate-resisting cement is used

Fothe-fauely Hide #1 seadTe [Far siar &
Correct Answer: rapid-hardening cement is used
AT T TET glet aTell W T STAAT FHIAT ST &
Candidate Answer: low-heat cement is used

& T Wi HT sEAAT haT ST &

QID : 179 - The advantage of reinforced concrete, is due to

Yeord shIc & oTsT SHe HROT BIaT &
Options:

1) monolithic character

3@s IRT

2) fire-resisting and durability

T faRre 3R T

3) economy because of less maintenance cost
FH WRETT ET & HROT FcTaeam
4) All option are correct

st e T &

Correct Answer: All option are correct

T e T8 &

Candidate Answer: economy because of less maintenance cost
S TEIGTT AT & HROT 3rdfegaear

QID : 180 - By over-reinforcing a beam, the moment of resistance can be increased not more than

Teh I &Y AT A F, TR T &T0T SHY SATET 7 81 Hebll &
Options:

1) 10%

2) 15%

3) 20%

4) 25%

Correct Answer: 25%

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Spacing of stirrups in a rectangular beam, is

T AR St 3 T dr e, o8 et &



Options:

1) kept constant throughout the length

ol TS F R e &

2) decreased towards the center of the beam
97 & g FI IR FA BT

3) increased at the ends

BR W TS

4) increased at the center of the beam

A FFgH Tear e

Correct Answer: increased at the center of the beam
A FFE A TeaTE

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - The radius of a bar bend to form a hook should not be less than

wyaﬁ%ﬁcwwﬁ%ﬁ%ﬁvﬁﬁﬁww#wmw
Options:

1) twice the diameter

SITH AT gaTetr

2) thrice the diameter

ST T cfied AT

3) four times the diameter

ST T IR AT

4) five times the diameter

ST T Gie AT

Correct Answer: twice the diameter
ST T G

Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Steel bars are generally connected together to get greater length than the standard length by providing

FEIT T T FT ITH AR R TF AT FNSH HoToh oaT$ T Jorell 3 I Rhere e et uree < 37 gl &

Options:
1) straight bar splice

grefr 98T Toomsd
2) hooked splice

[SERRSIES)

3) dowel splice

ST TS

4) All option are correct

T RFeT a8 &

Correct Answer: All option are correct

ol Repoq @& &
Candidate Answer: [ NOT ANSWERED ]

QID : 184 - The diameter of longitudinal bars of a column should never be less than

FiET & et HAE! & ST $ SHA Hel H 76T laal Afew
Options:
1) 6 mm
2) 8 mm
3) 10 mm

4) 12 mm
Correct Answer: 12 mm
Candidate Answer: [ NOT ANSWERED ]

QID : 185 - The maximum ratio of span to depth of a slab simply supported and spanning in two directions is

T a7 HTAFAH I Fola T 760$ F S 7 et o Remsft # gafa sk Sarerar g, as &
Options:

1) 25

2)30

3) 35

4) 40

Correct Answer: 35

Candidate Answer: 25

QID : 186 - For a continuous slab supported at ends and carried over intermediate beams

s foH@R T & T &Y i 8R W g@fl¥ia g 3k Aegadt f@f w o s = ar



Options:

1) Max. sagging B.M. for the end spans = + (wl?)/10

Y AT BM 37d ®F & fow = + (wi2) / 10

2) Max. hogging B.M. over penultimate supports is equal to - (wl2)/10
31Rrehae gfFer f.uA. ST FHYAT & FH - (wl?) / 10 & SR &

3) Max. sagging B.M. for the interior spans = + (wI2)/12

A AT BM AN =1 & faw= + (wi?) / 12

4) All option are correct

g ey 8 &

Correct Answer: All option are correct

ol faemeT T &
Candidate Answer: [ NOT ANSWERED ]

QID : 187 - The advantage of a concrete pile over a timber pile is

TR & SY(TTST) T Teh S & T g o glaT &
Options:

1) no decay due to termites

EIHF F FROT HTs &7 6T

2) no restriction on length

ST T HIE ey &

3) higher bearing capacity

3T T8 &THAT

4) All option are correct

et femey we &

Correct Answer: All option are correct

ot fmeT we &

Candidate Answer: higher bearing capacity
3TT 3EY &THAT

QID : 188 - A raft foundation is provided if its area exceeds the plan area of the building by.

T 93T Aid UeT fhar S & Ife 39T 89we, SART & Ao % & 308 31f8 gar 21
Options:

1) 10%

2) 20%

3) 30%

4) 50%

Correct Answer: 50%

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - The forces in the members of simple trusses may be analysed by

TTYROT ¢F & AGEIT H Foll T TILAY0T ST FohdT ST ThT &
Options:

1) graphical method

Jrer@r fafer

2) method of joints

St dr fafer

3) method of sections

st S Ry

4) All option are correct

e RweT a8 &

Correct Answer: All option are correct

g ey T &

Candidate Answer: method of sections
Tt hr farfer

QID : 190 - A rolled steel joist is simply supported at its end and carries a uniformly distributed load which causes a maximum deflection of 10 mm and slope at the
ends of 0.002 radian. The length of the joist will be

T Ueg Tl SSTC Y 3TP B W TERT T & 3R v T ®9 & faaRa R orar & forass &Rt 10 ) 1 siftreds faeiaer 31t 0.002 Izae 1 ok ) garre giar
B SiigTe & oS gl

Options:

1) 10 m

2)12m

3)14m

4)16m
Correct Answer: 16 m
Candidate Answer: [ NOT ANSWERED ]



QID : 191 - A lift of weight W is lifted by a rope with an acceleration f. If the area of cross-section of the rope is A, the stress in the rope is

FoTeT W T Teh foitre ek IEET & AT TS caX 0T f & AT IS ST &1 3R IEHT & Shid-TerIeT T &1Thel A &, At TEHY T =g gem
Options:

1) W (1+f/g)/A

2) (1-g/f)/A

3) W (2+f/g)/A

4) W (2+g/f)/A

Correct Answer: W (1+f/g)/A

Candidate Answer: [ NOT ANSWERED ]

QID : 192 - A material which obeys Hooke’s law is subjected to direct stress 00. At its elastic limit, which of the following statements is true?

wmsﬁga:axmwwwm’s‘, g WY I=T1g 00 & 3l 2T &1 319l Sonfeees W W, et & & ol a1 wua wer &2
Options:

1) Strain is equal to 60/E

aa 00 / E & SReR §

2) Maximum shear stress = 00/2
f8FAH FA detrg = 00 / 2

3) Strain energy = (602/2E) x volume
T SelT = (002 / 2E) x AT

4) All option are correct

wofr e wéy &

Correct Answer: All option are correct

[T fAsheT Tér g
Candidate Answer: [ NOT ANSWERED ]

QID : 193 - Keeping the depth d constant, the width of a cantilever of length | of uniform strength loaded with a uniformly distributed load w varies from zero at the
free end and

MRS d H TAS TG F T, | Tams F HErehax H aliers S fF aoet w9 & faafa s w & @ 3frs &7 918 § 9 477 & et @il § 77 oR Wl g@
Options:

1) (2w/od?) * 12 at the fixed end

(2w/od?) * 12 ffRerd 3id &

2) (3w/od?) * 12 at the fixed end

(3w/od?) * 12 fRRed 3id

3) (3w/od) * I at the fixed end

(3w/od) * 12 AR 3iq &

4) (5w/od) * 12 at the fixed end

(5w/od) * 12 AT 3iq &

Correct Answer: (3w/ad) * I2 at the fixed end
(3w/ad) * 12 fAfRaa sia &

Candidate Answer: [ NOT ANSWERED ]

QID: 194 -

The force in EC of the truss shown in the figure
below is

%ﬁ%ﬁ@ﬂmgﬂﬂ, TeECc H e H U B ad

5t
4t




Options:

1) zero

T

2) 5t tension

St d=ra

3) 5t compression
5t gdseT

4) 4t tension

4t delta

Correct Answer: 5t compression
5t s
Candidate Answer: [ NOT ANSWERED ]

QID : 195 -

In the cable shown in the figure below, the minimum
tension occurs at

i feu e fga & fewm e Fea §, Aan o P R gl g

Options:
1)A

2)B
3)C

4) Between A and C
AdRCxFa=

Correct Answer: C
Candidate Answer: C

QID : 196 - A shaft is subjected to a bending moment M and a torque T simultaneously. The ratio of the maximum bending stress to maximum shear stress
developed in the shaft is

TS AT SIHIE &70T M 3R T ek T TR T 1 37efieT §| emore o R stftrencrst sveett defra & forw siftrencst gievma detrar ot 3 &
Options:

1) M/T

2) T/M

3) 2M/T

4) 2T/M

Correct Answer: 2M/T
Candidate Answer: [ NOT ANSWERED ]

QID : 197 - The shape factor of standard rolled beam section varies from

HTeTeh oGehT S1H JTBTAT h TR HRh FEH e Il &
Options:

1) 1.10 to 1.20

1.10 & 1.20

2) 1.20 to 1.30

1.20 & 1.30

3) 1.30 to 1.40

1.30 & 1.40

4) 1.40 to 1.50

1.40 & 1.50

Correct Answer: 1.10 to 1.20
1.10 & 1.20

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - In plastic analysis, the shape factor for a triangular section is

colfea faRomor &, vl T3 & AT 3SR &I FRE &



Options:
1) 1.5

2) 1.34
3)2.34

4) 25
Correct Answer: 2.34
Candidate Answer: [ NOT ANSWERED ]

QID : 199 - Shear center of a half circular section of radius r and of constant thickness, lies at a distance of x from the center, where x is

ST 1 & 37 G AT T FeRel Fhg; N AT #ers & | Fa & x
Options:

1) r/n

2) 2r/n

3) 3r/n

4) 4r/n

Correct Answer: 4r/n

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - A three-hinged arch is generally hinged at its supports and

e Ai-fgst arel T MAGR W 38 HeR W 3N 50 W B Frargar g
Options:

1) at one quarter span

e oS 3afr F

2) at the crown

lﬁ-ﬁ' T

3) anywhere in the rib

R & +e¥ oy

4) None of these

o & A

Correct Answer: anywhere in the rib
e 7 ¢7 o

Candidate Answer: [ NOT ANSWERED ]
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